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FINAL ANSWER KEY

Paper: 060 - Sociology Penology and Criminology
Date of Test 06-05-2024
Questionl:-The father of 'deterrent theory' is
' @oleeow milevomEmlmeo’ almoal
A:-Auguste Comte
(GTOU)G)F{;S Gﬁf)o@g
B:-Jeremy Bentham
6200 HeNIMmo
C:-Hegel
©adN®
D:-James Stephen
om0l Mflanmd
Correct Answer:- Option-B
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Question2:-The carnal knowledge (intercourse) against the order of nature by a man or woman is punishable under section

B o@xemd MW WHTIQeS GEDIM allBELEID BAE: aIdlEImOM. (MVeeRIN.) Q] @900 USlEUIBODIETY

A:-376 IPC
376 eagalail
B:-390 IPC
390 eagalmil
C:-378 IPC
378 eagadadl
D:-377 IPC
377 eagaimdl
Correct Answer:- Option-D
Question3:-NCRB means
agiBrl@r@sni agomocd
A:-National Crime Read Bureau
MIHUM@S OO0 Glouwy 6NnyE00
B:-National Crime Records Bureau
MIUMBB OO0 HOCENIBUIMY NG00
C:-National Crime Road Bureau
MIHEM@ OO Eo GO NG00
D:-National Crime Rating Bureau
MIUEM@B OO o GOGlUY 6Nn1y600
Correct Answer:- Option-B
Question4:-'White Collar Crimes' don't injure individuals directly but causes loss to the
'060Ig 62088 &oHOIIW' AETle:es emdls aidleemalesaiogslaj a¥ MoYo EBOSB.
A:-asepley
B:-Family
@ GobNlo
C:-Nation
@On%o
D:-Criminal
@dlnad
Correct Answer:- Option-C
Question5:-Conflict theory of criminology was propounded by
@ldlemogalQes ©eAGmaLy MIRLIM. ERAIMEA]aITY
A:-Sutherland
aquOAeloma’
B:-Ralph
00@ad
C:-Emile Durkheim
a2l@d cwdadlo
D:-Sellin
emugflad
Correct Answer:- Option-D
Question6:-'Lombroso’ was an Physician.
' 621006ENOETVY" BE ©eBMIIGM.
A:-ltalian Army
goelomd eemumye
B:-British Army
@fiSlesf ®@OTLM
C:-French Army
(@O6™ OOTVMY
D:-Dutch Army
Ww.f @Al
Correct Answer:- Option-A
Question7:-'OECD' means
'geomilalll’ agamo@d
A:-Organisation for Economic Co-operation and Development
BIBNOOMETVIHUM Ea00B EDEHEMIASS E0-60ajB0UM @R (Ll feamd’
B:-Organisation for Earth Co-operation and Development
BIBUOHMETVAHM EandB )BT EB0-6300E0nHM @B AWIRlaleamdd’
C:-Organisation for Energy Co-operation and Development
BIBUNOOMETVIHUM Ea0B afMAeH ¢H0-60aj60HM @R (warlnieamd’
D:-None of these
@ma@ammrﬁg
Correct Answer:- Option-A
Question8:-The positive school of sociology founded by
Gatomdidlar nguﬁ 83000 eVoCAPOse Mu0dallajm
A:-Max Weber
208" OB
B:-Auguste Comte
(G’IBU)G)ﬂ('g G&:OoG)Q
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C:-Max Plank
208" Qo
D:-Wolfgang
Quafo6s’
Correct Answer:- Option-B
Question9:-In India a beginning in the Open Prison System was made in 1952 in
omlad @om Bl musalwomosilm @se. 1952-wd @ @rlcamo.
A:-Orissa
adlo
B:-Bihar
snflanod
C:-Madhya Pradesh
DWYaJEBUD
D:-Uttar Pradesh
OOMABJERUD
Correct Answer:- Option-D
Question10:-'Victimology' focus attention of
'allgleaoged Gano@M WBRL

A:-Offender
&qang]

B:-Victim
[2slc)

C:-Witness
ol

D:-None of these
SOAIOHWINRALY

Correct Answer:- Option-B

Question11:-Who among the following has the concept of with Ego and Super Ego?

©99POQMAIRITS ERAEHEM LDENIQL MYald DVENIQ afaM CRUBDe 28807
A:-Sutherland
[V I=Tale cleVo)
B:-Emile Durkheim
)@ cwBalo
C:-Henry Cooper
60301 @&ayd
D:-Sigmund Freud
aVluneng eagowilouy
Correct Answer:- Option-D
Question12:-'Child' means a person who has not attained the age of

‘&gl agmo@d QR Cle:@IOm QG QBT oMM GRAMOAEBANDY.
A:-18
18
B:-17
17
C:-16
16
D:-19
19

Correct Answer:- Option-A
Questionl13:-'Hacking' is a term used in Crimes.
' 00080y’ agemoy 08 ©alcIUIlERM BE alBa6.
A:-White Collar
06017 60838
B:-Blue Collar
o 8@
C:-Civil
adlaled
D:-Cyber
o6 ruenId
Correct Answer:- Option-D
Question14:-According to Criminal is the product of capitalist system.
@B000 BN g OLVEITD QUAITNLORQOS O@Ba M6,
A:-Karl Marx
008 2odgy
B:-Bonger
G6NIOoN@
C:-Marry Carpenter
20@ H006alBOAB
D:-Adam Smith
@RWo mylowy’
Correct Answer:- Option-B
Question15:-The theory of cultural transmission was developed by
TVIMYIEND (@JEHYaleD MIERLIM. Qlldmilafle e
A:-Shaw and Mckay
AHOIQo DCLHWQo
B:-Shawallas
aHQIaImy’
C:-Arther Noten
@RB®A eMogm
D:-Sutherland
[V I=TialecleVo)
Correct Answer:- Option-A
Question16:-The theory of differential association was coined by
Wlao0MBaUi@ @REMIMIIERUMBOO MilRLIM. @O FOTIREY
A:-Rafello Garofalo
006)0.0(2%40 NOGIANIEAID
B:-Emile Durkheim
a2l@d cwdadlo

o9
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C:-Edwin H Sutherland
)W ag)a] TumAenadouy
D:-None of these
@OJG)(OO(TTDQ%
Correct Answer:- Option-C
Question17:-'Delinquency' is a term derived from word.
'SR’ 0@ a flcd aslamy NG| B alGROET.
A:-Latin
anglm
B:-French
(o6l
C:-British
@figlast
D:-Dutch

Waj

Correct Answer:- Option-A
Question18:-Commutation of sentence means
Wloy O8N af)iMIT @RAMORIEBME

A:-reduction of the term of imprisonment
@SQUBlBURQOS B0 BOQE

B:-increase of the term of imprisonment
@sQUEleUQes @oenawl adedla)ese

C:-reduction and increase of the term of imprisonment
@salldeo &oenaiw] ogej adeulalenal

D:-none of these
DOGITORGY

Correct Answer:- Option-A
Question19:-Sociology is a value free science who coined this
GLGAHSH] B Gely Easl® UEITYAET), DY MYalaley

A:-Max Weber
208" ©AUETIA

B:-August Comte
BN CHIOS

C:-Emile Durkheim
ag)@l@d cwdadlo

D:-Maclver
DO OGUR

Correct Answer:- Option-B
Question20:-'Parole' is a French term meaning
'alc@dWd' 0l B @O aIBEDIeMO @RAMmA.

A:-set free
MUIODDIEB D

B:-fly
alOEBE

C:-leave
allge

D:-word
QIS

Correct Answer:- Option-D
Question21:-The Chairman of Advisory Boards of Prisons is
20lejdg6s paleswd Maloleges 6.awadaom

A:-Chief Minister
geua@Dl

B:-Governor
naRemad

C:-D.G of Prisons
20lod aul.edl.

D:-Session Judge
OMVAUM 3wzl

Correct Answer:- Option-C
Question22:-The word probation is derived from the Latin word
6/(JOGENIAYM ag)om QIS alglad @ aslenoey’ G y

A:-Probatio
6)(JOGENIGAHL0

B:-Probationer
6(@JOBENIaHEMA

C:-Probe
ejosnt

D:-None of these
OO0 ey

Correct Answer:- Option-A
Question23:-The father of American Probation is
@REARIEM HJOCNIAHMOO allmoal

A:-Donald Taft
©WEMIUBW S0ag

B:-John Augustus
GZREMY @MUY

C:-Kelly
omgfl

D:-Mc Kollins
28 eoglmdmy’

Correct Answer:- Option-B
Question24:-First law minister of Kerala State
CHESOVIER! @RBREOD TaaQs

A:-C.Achuthamenon
mﬂ.amm%@cmmorﬁ

B:-P.K.Kunju
all.6d. S6007
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C:-V.R.Krishna lyyer
all. e 3. &oyad
D:-None of these
@sm»omam%g
Correct Answer:- Option-C
Question25:-Who pioneered the classical school of penology?
Gomilen@d ngu% 63000 Oalemossles ©@s®MAlg® @ryEIeM?
A:-Cesare Beccaria
amileavud esniEncle
B:-Germy Bentham
omdal esnimo
C:-Sir Leo Page
@ efllewd Galzd
D:-Enrico Ferri
af)BOleEe0 Handl
Correct Answer:- Option-A
Question26:-Ducking stool is a form of
Wasilouy q}goﬁ OMO Bal@oem’
A:-Enjoyment
@RMVIOBMo
B:-Punishment
Wless
C:-Offence

D:-None of these
DOOTRAG]
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question27:-Under Indian Penal Code (IPC) waging war against Government of India is included in the section
0my® alm@d eaonwy (IPC) @@:oee amp wasmeamddemalee @eve £.21QM@Y @D alleonooied Quﬁquzg(muﬂmﬂ%mi.

A:-Section 132
Q] 132
B:-Section 364 A
Q] 364 g
C:-Section 305
Qida] 305
D:-Section 121
Qe 121
Correct Answer:- Option-D
Question28:-Evolution theory was set by
al@lemoa aleRLI. MuNdAllg)®
A:-Charles Darwin
21003 awodallmd
B:-Charles John
20U 623061
C:-Karl Max
B0UB @Ogy
D:-None of these
@6)@0(“6@%4
Correct Answer:- Option-A
Question29:- is the most widely used form of Capital Punishment.
@R aBQQle AUPAIBRI] DalEIUTERM AUWUBlEY.
A:-Poisoning
Qflasieniow
B:-Electrocution
6)6)(}1(3&@0“2!0(6)0
C:-Hanging
@asillgs
D:-Shooting
easloQs
Correct Answer:- Option-C
Question30:-'Piracy' is a form of crime.
'00al0mdl' agam@ ©QQOODTIMDBO0 BB @alnoeny.
A:-Property Crime
G@ojBs] ©6@0
B:-Extortion
OSOWFETD
C:-Civil Crime
oo eewoe
D:-Criminal Offence
@@ BQo
Correct Answer:- Option-D
Question31:-Headquarters of International Court of Justice is
@RADIGIY MITIMP® EHISTIQWOS @RHTVAIMo
A:-Germany
2@
B:-USA
@PEAD|ED
C:-Britain
enfigad
D:-Netherlands
emmARIoBaumy
Correct Answer:- Option-D
Question32:-In Kerala how many open jails are there?
CHESODIB af)@ DO gacw'le,j@,gsm“?
A1
1
B:-2
2
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C:-3
3
D:-4
4
Correct Answer:- Option-C
Question33:-The word Sociology made up to two words and
GNLOGAHUPSBE af)OM QIESIBD , )T E6ME QUOEEE:UB UBEEOSSTo.

A:-Socious and logos
GITLIAHYTY, GRIDEUOMY
B:-Social and logy
GNLOAH®D, GRlosd]
C:-Socio and logy
GNVOGAHLD, Gelowd]
D:-None of these
DOGITMORLY
Correct Answer:- Option-A
Question34:-'Man is a social animal' who coined this?
' aayd 6308 Togadle eflalwosm’ @REoET MY Myalaie?
A:-Plato
m%ego
B:-Aristotle
@pAleqRoslad
C:-Socrates
GOLIEGSINY
D:-Emile Durkheim
a2l@d cwdadlo
Correct Answer:- Option-B
Question35:-How many Central prisons are there in Kerala?
CHEBOMIB af)@ HTVMSTD sa@’le‘;&gsnz“?

A:-2
2

B:-3
3

C:-4
4

D:-5
5

Correct Answer:- Option-C
Question36:-The Chairman of Parole Review Board is
alGEIUB rﬂm‘k @enIRWIMBE0 6.21BBOM
A:-D.G Prisons
wl. =l mafleje:ud
B:-District Collector
elojo Ha8ad
C:-Police Chief
catoallmy’ eawoal
D:-District Probation Officer
=lajo eoesnieumd Boadiarud
Correct Answer:- Option-B
Question37:-The present Chairman of State Level Advisory Committee of Kerala is
GBS MMINIMDE! alEBUdd TUAITIQOS DEAILHOD 6.21ABDIM
A:-Justice (Rtd) Ramachandran
Bafay (dlg) eonal@m@
B:-Justice (Rtd) A.K. Dinakaran
Badlay (dlg) af).ed. dmeead
C:-Justice (Rtd) Balakrishnan
By (dlg) enioaigeyad
D:-Justice (Rtd) K.K.Dineshan
Bl (dlg) o6, o6 demuomd
Correct Answer:- Option-D
Question38:-The present Chief Justice of India is
DS EaIPOOD allad ROy
A:-D.Y Chandrachud
Wl.oeal. a3y
B:-U.V Chandrachud
@.all. i@y
C:-Abdul Nazeer
xmasrguﬁ mald
D:-R.N Bhagavathi
@RA. afiB. BUQIGH
Correct Answer:- Option-A
Question39:-The term Sociology was first termed by
CLGAHUPSBE AN alBo @YW OaleOUTl®
A:-Max Weber
208" ©U6NIA
B:-Auguste Comte
(GTOU)G)ﬂ;g aee,omg
C:-Charles Darwin
aloudmy awodalm
D:-Karl Max
B0UB @Ogy
Correct Answer:- Option-B
Question40:-Panchayat Raj system is based on the principle of
AlfRIOQOD & MVLQlWwIMoe OOIOOD @RSIMOOMDISIQssma6TY
A:-Democratic decentralization of administration
2EMODIMe0 BMIWlal®) Qlled 3leo6mo
B:-Administration through Government Officials
MUAENIB HEBPUNITVNAR PEEUMWYSS RO6Mo
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C:-More power to district administration
oo GEEMESOTIM &SO@ GRWIE:000
D:-None of these
@sxmomam%g
Correct Answer:- Option-A
Question41:-What sets humans apart from all other living creatures?
069510 =flai0aiEREITd (e AMAUEM AUITYMILIMEY af)6M?
A:-Thumbs
allegyeud
B:-Language
BoaH
C:-Cultural Behaviour
MUIMYIFS OITBBOIQo
D:-Tool use
U8 ©alEIe
Correct Answer:- Option-C
Question42:-What is sex ratio?
ag) o6 eflotromalomoe?
A:-No of females per hundred males
@3 oJ@BaU@IBLS TYlSHE6S agepRe
B:-Difference between the birth rates and death rates
2MM Wleds. aeem Tlods. mailaes AP
C:-No of males per hundred females
@ MWL oJTBHUDOGOS af)6[Ro
D:-No of females per thousand males
@RI aJEBaHDOIALS nglda,ge:s afsRo
Correct Answer:- Option-D
Question43:-Emile Durkheim was a Sociologist.
agdl@d Wwdadle B@3 MUOGDYBITYETMO @M.
A:-American
@ReEadlE
B:-British
@figlasf
C:-French
(g6l
D:-German
23
Correct Answer:- Option-C

Question44:-Which branch of sociology deals with problems of society?

MUIGAOLROTYOTIMBEO GO YICIDIET MIPAOOTIWBEO JREBUB OOGBIBY OalIND?

A:-Criminology
@lalemosed|

B:-Law of the land
@IBOO W20

C:-Social pathology
CNLIAH® ale@Os

D:-Psychology
£6MUeHOSH]

Correct Answer:- Option-D
Question45:-The term 'family' derived from the word
' @:Go6Tlo’ ag)m QI o’ p@owil@leTm@osT

A:-Famli
andoal

B:-Famulus
anogeaimy’

C:-Familis
anodleflmy

D:-None of these
Q@(D)D(TTDML—H

Correct Answer:- Option-B

Question46:- is a socially defined position in a group of society.
)M MGaOOTHBOO B@ &SODITd MIGPadlBa0w] Mldaalereas 6@ muoomadey.

A:-Status
@aimun
B:-Deviance
Q@IOMe
C:-Interaction
DSOAISTD
D:-Delinquency
\ﬁsgo
Correct Answer:- Option-A
Question47:-Status and role are two building blocks of social
TRIQMYo EOITo MVOGaLilds ©M0 e MBeMIEM AISEEBRSIE.

A:-Action
(@UBOmMo
B:-Interaction
DSOAISTD
C:-Structure
agIsm
D:-None of these
DOOTALY
Correct Answer:- Option-D
Question48:-AIDS stands for
f)9ag)Wlag)my ag)mM@Be0 @oA®N.
A:-Acquired Immune Deficiency Syndrome
@RS IQBW @m&mﬁ ewadlaxydad]l cmiladeqwoo
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B:-Acquired Immunity Deficiency Syndrome
@RBIQBW @mésrrﬂ(nﬂ ewadlaumdadl milmdeqwoo

C:-Acquired Immune Defective Syndrome
@SB @m‘g’ma aleangilal milmeqwoe

D:-None of these
QG)(U)DGTOB%!

Correct Answer:- Option-A
Question49:-National Police Academy in India situated at
MoaeM@d eatellmy’ @oenocal mudldileagano

A:-Hyderabad
©6a0BINIG

B:-Kota
CHOD®

C:-Srinagar
wlnnad

D:-None of these
@m@m}omamgg

Correct Answer:- Option-A
Question50:-

a)M®Y 0G0 BV, TVIROIEEREG. OO *QISHEREIG WRERWILIOIFM oM @OMRAIMAIET.

A:-Socio biology
GMVUOGAHYD enICOses

B:-Socio engineering
LG ag)eflldleuy

C:-Socio behavior
Mgadldr OalBAIQe

D:-None of these
@@(DD(TTEQL-H

Correct Answer:- Option-A
Question51:-In Patriarchal theory
@i Wlaloy MIRLIOBIG FGJ VHDROVT

A:-mother
@oan

B:-father
@941

C:-uncle
@RADOQUTD

D:-aunty
@20

Correct Answer:- Option-B
Question52:-In @ monogamous family one-man can
ARBERIOIDINSBS BT HFoNIOIB BOIUBES

A:-marry one woman at one time
66 LA, 8@ MO allavade ®¥lEnde

B:-marry many women at one time
660 Ma. dMleawl mieeg allaade &¢lemd.

C:-marry many women at different times
oy mawasgled Mleaw! mileeg alanade &¢lea.

D:-none of these
OOHMIMODGY

Correct Answer:- Option-A
Question53:-In 1954 'Panchsheel' was declared by the Prime Ministers of India and
1954-@3 snomy@esQie OMQo (JWOMRATI@0EE ' alermuudlel’ @euallaioy.

A:-Afghanistan
@padnamlmunom

B:-Pakistan
ald&lmnom

C:-China
6)6).21(M

D:-Bangladesh
6NIo(RICRUT

Correct Answer:- Option-C
Question54:-The doctrine of phrenology was developed by
6gemoge milevoame allemilafle sigom@

A:-Prof. Franz Joseph Gale
(@j9an. @QIMAS ERIMVal CNM

B:-Dr. Hooften
GOWO. 28®aQMd

C:-Dr. Arnold
GOWI. @AMV

D:-None of these
@@momﬁm%

Correct Answer:- Option-A
Question55:-Raffaele Garofalo a criminologist hails from
@lalemogalqo® 006a0@ 1EEIANIERI ruieaudlwosm.

A:-London
lenem

B:-Italy
egefl

C:-French
(ool

D:-China
6)6).2I(M

Correct Answer:- Option-B
Question56:-The present Chief Secretary of Kerala is
CHEBOTIMBOO DEIPOOD allad HXVGSA!

A:-Dr.Vishwanath Sinha
eawd. aflueimold” miladan

was most powerful.

is the hypothesis that all human behavior is determined by genetic factors.
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B:-Dr.K.Raju
GOWD. 6)». PO

C:-Dr.Venu
GOWI. QU6

D:-Dr.V.PJoy
eawd. afl. afl. a0

Correct Answer:- Option-D
Question57:-Max Weber was a Sociologist.
2087 eENId B 6LIGAUBE MY @BMR.

A:-British
[l

B:-German
23

C:-American
@Peadlend

D:-French
(@peral’

Correct Answer:- Option-B
Question58:-Who wrote the book 'White Collar'?
'060IF 6H08AB' afaM afIydo LI @REoEM?

A:-G.H.Mead
2. ag)al dflowy’

B:-Charles Montesquieu
AWMy GROOEMBTRY

C:-Sutherland
LAl

D:-Wright Mills
660¢ dledmy

Correct Answer:- Option-D
Question59:- is an example of formal control.

8Dalald@ld NREMOTIT BT DEIAOEMAIE.

A:-Norms
DOMBEMWEBRUB

B:-Law
aloe

C:-Anarchy
@POIWHT)o

D:-Rule
Qud

Correct Answer:- Option-B
Question60:-What is the meaning of the term 'archy' in the word patriarchy?
al0El@ods e Qe @R agan alBETe0 @RAMaeamosm?

A:-Decent
2OMIBOQD®

B:-Ownership
OSAMLNIUBHIU

C:-Authority
@premIdIG

D:-Rule
aloe

Correct Answer:- Option-C
Question61:-The Probation of Offender Act is on
6(@)o6sNIaHMd Boad Baomawd @R Mleiallcd amo

A:-1957

Correct Answer:- Option-D
Question62:-Under the Constitution of India Police is a subject of
AWM BEEMORISM (@00 Ealoallmy B@3 0o allayasmy.
A:-State
MVeMUOIMo
B:-Concurrent
63COMVAWo
C:-Centre
[N
D:-None of these
@omomﬁm%
Correct Answer:- Option-A
Question63:-In Prem Shankar vs Delhi administration (1980) the Supreme Court observed is inhumane and therefore unreasonable.
GlaJo VOBAB BALMY AW@dad] @EsMESODI@S (1980) myelle esos®l 2RU®ICGIOR006MIBe @GN Qooloadimacesmars aildesla).
A:-Beating
@RSlERe
B:-Chaining
al6Bnel
C:-Killing
G)\ﬂ:ﬂlgd@:
D:-Hand cuffing
00w’ dadleas’
Correct Answer:- Option-D
Question64:-The Judicial Magistrates are appointed by
23 ulasy@d mgafl(sngg@ag mlodemo
A:-Supreme Court
Maflo €IS
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B:-Sessions Court
OMVHUMBMY ¢SO

C:-High Court
©6a06EISO|

D:-None of these
@6)@3(“’612%!

Correct Answer:- Option-C
Question65:-Habitual relapse in the crime simply means
QBT oMU, aISlm2Q] ERAGNAIERMEY

A:-Positivism
catomdidlafioroe

B:-Delinquent
&qang]

C:-Both (1) and (2)

(1), (2) oo @610

D:-Recidivism
@RYQUBODMalE®

Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question66:-Rajiv Gandhi the former Prime Minister of India was killed in a bomb blast at

HAQOS G JWwomaE] eosdlal komuwl @6NI06NT BTRISMEIEE 6H0BIea]S:
A:-Bihar
enllanod
B:-Kerala
GOS0
C:-Tamil Nadu
oalgos’
D:-Delhi
W@dadl

Correct Answer:- Option-C
Question67:-Sociology has been said to be the product of
MUOGaDYUBITYo AllgjemlBe a0ei26maTy al0@eajgme.

A:-Russian
Oy

B:-Chinese
6.2l

C:-American
@PEaElEM

D:-French
(@peral’

Correct Answer:- Option-D
Question68:-Society is rooted in which concept?
TUGabo aB® @RUQEBIG CAUGIT®EM?

A:-Interaction
DSOAISTD

B:-Culture
ﬂ'\)oﬂ'fo(Oo

C:-Roles
coogd—huﬁ

D:-Action
(JUBGDMo

Correct Answer:- Option-A
Question69:-Non-Conformity to a set of norms is known as
6@ @&So DIMBETWEIBUD l0ellErIOm@ a)Mm’ @RAIWeIgMo.

A:-Habit
et

B:-Crime
BYHOYo

C:-Deviance
Q@IOMe

D:-None of these
DOGITORGY

Correct Answer:- Option-C
Question70:- is a negative social function.

8@ eMUWFIal GV afoUTaUMIETY.

A:-Suggestions
mldeguosaRud

B:-Reward
(@®flanelo

C:-Praise

ol

D:-Punishments
BlAUBUD

Correct Answer:- Option-D

revolution.

Question71:-Who of the following considers village is a little republic?

©06PJOQINAGITD @RI WORETD BB H2ICIQ Clojepiles AW BEMEndEBIN®?

A:-Lal Bahadur Shastri
210@3 6NadGA LMYl
B:-Ram Manohar Lohia
0% MEMIaNA@ GRIDANY
C:-Mahatma Gandhi
20000 NI
D:-B.R. Ambedkar
6nil. aRA@. @R.CNIGH:A
Correct Answer:- Option-C
Question72:-Article 21 of the Constitution of India provides for
OB cEEMeaISMmYeSs @oAgleslud 21 QIO ©algm.
A:-Right of Education
allagpEM @IS
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B:-Right to Life
lafleromees @RAIBwe

C:-Right to Property
LIOTICRIMBES @RI

D:-None of these
@6)(0)3(11’612%!

Correct Answer:- Option-B
Question73:-'Lex Talionis' is a term refers to
'eaigy soalleoammy’ agam@y myailaflesanoy

A:-Victim Compensation
DEWOS Maal@lad@o

B:-Truth for a Truth
BT TLOCTIMIYSS TV

C:-Eye for an eye
BRIy ey’

D:-None of these
@armomomgd

Correct Answer:- Option-C
Question74:-In Kerala 'COFEPOSA!' prisoners are detained in

eoogoled 'COFEPOSA' msqeoee @saoaled msallensloldesme.

A:-Central Prison, Kannur
OTVME® B, @epad

B:-Central Prison, Viyyur
HAIVMS® B3, m’k%xﬂ

C:-Central Prison, Poojappura
HTMBS® BRI, ojSBajo

D:-Central Prison, Thavanur
OMVMS®d VW@, UMD

Correct Answer:- Option-C
Question75:-The highest punishment in India is
DIRIOal agQQle 2B (Elesi@oem’

A:-Computation of body parts

(AlEEINMEESS @Em, B
B:-Capital punishment
QWUBles

C:-Life imprisonment
=dlalaleyme @sal

D:-Fine
alle

Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question76:-The examination of fact and law in a case for the purpose of reaching a judgement is called
8@ AlWmPQOBI ag@miley@Bm@ImIe] 8@ eeailed QUTROQo mleagk aldlewiwlesmalem allglesma

A:-Bail
20040
B:-Summons
avamdmy’
C:-Trial
[Sle)
D:-Filing a charge sheet
8@ BQal@o Madafanam
Correct Answer:- Option-C

Question77:-The Public Prosecutors and government pleaders are appointed by

bRl eOmle5d0060Q BB ofluwdaceog. mledamao
A:-Supreme Court
ayeflo €IS
B:-High Court
£6a0CMHISO|
C:-Administrative Tribunal
@ryflalempdial @méﬁn@
D:-State Government
MUeMNIM MUAREHIB
Correct Answer:- Option-D
Question78:-The earlier name of APCA is
APCA @es @oeyoel Gald
A:-SICA
SICA
B:-RICA
RICA
C:-DICA
DICA
D:-NCRB
NCRB
Correct Answer:- Option-B
Question79:-Whipping Act 1864 replaced the punishment of

alloflovy @ 1864 g (BEUYY aldo Qlgf
A:-Mutilation
alleeim0e@d
B:-Flogging
2l05Q1008]
C:-Begging
Elesiosmo
D:-Branding
EUOMWlowy

Correct Answer:- Option-B
Question80:-The expansion of the term INTERPOL
oomodeaoud (INTERPOL) agam aisomiladeo ale:oaus

A:-International Public Organization
OMBOBMIUMD aleRflss BIBNOOMETVAUTB

10 of 13

Tuesday 11 June 2024 10:51 AM



Home Page http://192.168.1.6/dept/modules/marklist/answe...

B:-Internal Police organization
HMEOM@D Caloallmy BOBUESMETVAHM

C:-International Policy Organization
OMBOBMIHUIMN@B Caloglmd] BOBNOOMETVAHB

D:-International Police Organization
HMBOBMIHEM@D Caloellm BIBUNESMETVAHM

Correct Answer:- Option-D
Question81:-Adultery is a offence.

QElaloee B BQOoe.

A:-Sexual
©6lUile®

B:-White Collar
0601 eHO8A@

C:-Political
@0

D:-None of these
@a@om@mgﬂ

Correct Answer:- Option-A
Question82:-Indian Penal Code (IPC) defines unnatural offence is under section
o almad esow (IPC) weolalarwace egeomye Qdafly sldlanesman’ wldaaiesmo.

A:-373
373

B:-294
294

C:-375
375

D:-377
377

Correct Answer:- Option-D
Question83:-In Indian Penal Code (IPC) intercourse by superintendent of jail, remand home, etc deals in Section
oy admad edmouwiad (IPC) silod myelordadeo mmodesoy, Flnomdas ¢ante gOEN®AI HAVSHI EDSal0GES06IT.

A:-376
376

B:-375 A
375 ag

C:-376 C
376 mil

D:-376 D
376 awl

Correct Answer:- Option-C
Question84:-The full form of LSD a psycho active drug is
af)@BaglTIUWIQes 36 @al HOTVEHI @RS 2@

A:-Lysergic Acid Diethylamide
0eeimdxls; @MW OOWeSmRIOAS

B:-Lysergic Anti Diethylamide
eeeimddls @Ml Oeweemeneeany

C:-Lysergic Anti Dopamine
oecimdle; @Ml GWIaeenm

D:-None of these
OOHMIMODGY

Correct Answer:- Option-A
Question85:-The word penology is derived from and terms.
alemoaigd agom QL , a1l a fl@d aslenoemy

A:-Latin and French
aidlam, qgeraf

B:-Latin and English
210glad, enogfflasf

C:-Latin and Greek
andla, e’

D:-Latin and Italian
anglad, engoeflad

Correct Answer:- Option-C
Question86:-In England is the highest court of law.
eoerEled @M AlECRIMN@® C&HISOI.

A:-Queen's Bench
alladany eeneral’

B:-House of Lords
©adDIY B0ad GRIQAWMY

C:-Assize Courts
@RESTVMY EHHISIB:U

D:-None of these
@omomﬁm%

Correct Answer:- Option-B
Question87:-Who was the proponent of the terms Gemeinschaft and Gesellschaft, in social science?
M09GanYBITREBIM HRElBaUIg, HNTV@BaUING g alGEREeS QBN @rRyEI6M?

A:-Nicos Paulantz
aleEImy’ Galogengmy

B:-Jacques Lacan
2301’ RIBIM

C:-Ferdinand Tonnies
Oandauslmomdau’ esoenlony’

D:-Ferdinand Saussure
eandaulmondau’ ervoayd

Correct Answer:- Option-C
Question88:-Rationalism is a school of thought based on
QEOIAGe @BSIMNIMAIRRIW B@ alamowoe@oa

A:-Reason
@I06Mo

11 of 13 Tuesday 11 June 2024 10:51 AM



Home Page http://192.168.1.6/dept/modules/marklist/answe...

B:-Thought
aflom
C:-Experience
@RME
D:-None of these
@6)@3(“’612%4
Correct Answer:- Option-A
Question89:-Which is the basic characteristic of primary group?
@oundle QafBeo @eslrunom quicda. ag@o6m?
A:-Indirect relationship
AlGEIBH 6NIMNWo
B:-Temporary association
®o@&noalld: @oemomileaum
C:-Indirect face to face association
AlGEIGH Q6UOREN @OEMVIMIlE U
D:-Intimate face to face association
Q6UIR6 @TO%:H@@Q gga@g“
Correct Answer:- Option-D
Question90:-In Kerala Observation Homes are under the control of
CHESOMIT BENITVBEAUHMD CaNIPBHU om0 mlo@esmamwilaoen’
A:-Prisons department
2R3 Qlda]
B:-Social Justice department
IGaOKIE QUsa]
C:-Police department
Gatoallny’ Qiga]
D:-Labour department
6@ Qdraf
Correct Answer:- Option-B
Question91:-Central Prison Kannur was established in the year
BERAG HTVMSE B M0 le20@ QIBao
A:-1861
1861
B:-1885
1885
C:-1889
1889
D:-1869
1869
Correct Answer:- Option-D
Question92:-An arrested person should be produced before the court within
(GTOO(LH’]EIOQ) 630368 CBHISO| QIS ANIROICENENRD®Y
A:-24 hours
24 pemlesd
B:-48 hours
48 oemlgmad
C:-Next day
@Rgo™m Elame
D:-16 hours
16 aemlgsd
Correct Answer:- Option-A
Question93:-'Polygraph Test' is aid to
'satoglwoad osqy' @R@IMEEs Mano@EY
A:-Correction
OBODTD
B:-Rehabilitation
aJmeulanme
C:-Investigation of the case
eHMIMO0 @OEMIaUEMo
D:-None of these
DOGITORGY
Correct Answer:- Option-C
Question94:-The present home minister of India is
DIYOS EDGAJIPOTD CREYDE AT
A:-Narendra Modi
MeEE3 620d!
B:-Amit Shah
@A auo
C:-V.Muralidaran
all. geglwem
D:-Khoda Patil
GO l0S@d
Correct Answer:- Option-B
Question95:-'In camera' trials permitted in trials.
ceBGET3 DM GPA0" CWRIGUd GRMAIBMIWAET.
A:-Murder
BHILIAIIDMdho
B:-White Collar Crimes
0601 EHIBA HQBETRUY
C:-Sexual Offences
661Ulld HQHOERUS
D:-All these above
QBHEI®W A0SV
Correct Answer:- Option-C
Question96:-What is the meaning of the time 'Pater' in the word Patriarchy?
a0SlIdEs] agam anEleal 'a0gd' aMailBec @rdmoenimosn?
A:-Female

&l
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B:-Male
a@aHd

C:-Male and Female
ad@aUMo MylQge

D:-Transgender
SomamieEmBand

Correct Answer:- Option-B
Question97:-An example of reformative method is
al@logyeem Glolg’ 8@ ©8anEM.

A:-Whipping
210501008]

B:-Hanging
T&5le )@

C:-Solitary Confinement
aR3HI ®SQl

D:-Parole
al@EOUB

Correct Answer:- Option-D
Question98:-The founder of Indian Sociology
AN ENVICUPSH QYOS MNAlHB

A:-G.S. Ghurye
= ag)V. cgjee

B:-lravati Karve
DEIQUD BB

C:-M.N. Srinivas
ago.a)MB. Wlmlaomy

D:-R.K. Mukherjee
@B, k. peuded]

Correct Answer:- Option-A
Question99:-In Borstal School the under trial prisoners and remand prisoners of the age between and are admitted.
GenIOBMY@ C@g’l(eﬂ Mo Mo 5T @OPSS All2EEM SYSHIOEW. Gl2dM @SQYBHIOE. (Jeidla]lesme.

A:-19 to 21
19 gowd 21 ase

B:-20 to 22
20 go@ 22 aee

C:-18 to 21
18 gow 21 ase

D:-21 to 23
21 go@ 23 aee

Correct Answer:- Option-C
Question100:-'Kleptomaniac' is peculiar kind of
'9galegoaorlwoss’ 8 @Ity ®oo @6y

A:-Killing
6)«9:0%%

B:-Stealing
GAIaHEMo

C:-Sleeping
©06ERMD

D:-None of these
OOHMIMODGY

Correct Answer:- Option-B
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